Unit 2 Section 6.6 Order of Operations with Fractions Fractions

Name: Date:

Learning Goal 2.3 | can apply order of operations to fractions.

Confirm all the answers to the following questions by showing one operation per line of work.

a. 1 (8 5 1 7 b. 8 1, 5 3 73
2 <(5-5+2) =2 (5-2)"5*i"%
2 7°\9 9 4/ 24 9 2/ 76 4 60

1 /3 1 7 16 9 5 3 73
(6497 (55
27°\9 4] 24 18 18/ "6 4 60
1 (1 1> 7 7 5 3 73
—X|l=-+—=)=— _ - =
2°\3"4) 24 186 4 60
1><(4+3>—7 7 6 3 73
27 \12 "12) " 24 18%5727 %0
1.7 7 7X6 3 73
2712 24 1875 4 60
7 7 7+3_73
24 24 15 4 60
28+45_73
60 60 60
73 73
60 60
c. 1 8 (5 1y 1 d 1 <1+7X2)_10
§T§x<5_§>_% 4 87875/ 19
1 8X<10 9)_1 1'(1+7)_10
5 97°\18 18/ 80 4 °\8 20/ 19
1 8 1 1 1_<5+14)_10
5 9718 80 4 " \40 40/ 19
1 9 1 1 1 /19\ 10
=X =X—==— -+ |l—=)=—
578718 80 4 (40) 19
9 1 1 1 740\ 10
— X — = — —X|—)=—
40718 80 4 (19) 19
1 1 10 10
80 80 19 19

Assignment Finish this Handout Quiz Next Day!



Section 6.6 Order of Operations with Fractions

4>< 4 3 7+3>_3z
9”\5 4 9 5/ 81
4x<4x4 7+3>_32
9"\573 9 5/ 81
4X<16 7+3>_32
9”"\15 9 5/ 81
4X<48 35 3)_32
97 \45 45 5/ 81
4 <13+3> 32

— X |— _ ) = ——

9”7 \45 5/ 81

4 (13+27) 32
— X | — —_ | = ——

97 \45 " 45) 81

4 40 32

— X — = —

9745 81

4 8 32

— X == —

979 81

32 32

81 81

(5) +(5)*(-5) =51

25 1 7 32
HENEE-
81 9 9 81

25+ 7 32
81 81 81
32 32
81 81

Assignment

Finish this Handout

3 (2 2) 1+7 99
—X|lz=—=) |+ =+==—
47\3 5 8 8 40
3><(10 6) .1+7_99
47\15 15/) "8 8 40
(3 4) 1+7 99
— X —] == - =
4715) "8 8 40
(3x1>'1+7—99
1715/ "8 8 40
(1><1>-1+7—99
175/ 78 8 40
1'1+7_99

5 8 8 40
1X8+7_99

571 8 40

8 7 99

5 8 40

64 35 99

40 40 40

99 99

40 40

3 9/ 81 81
5 16 1

27 81 81

15 16 1

81 81 81

1 1

81 81

Fractions

Quiz Next Day!



Unit 2 Section 6.6 Order of Operations with Fractions

(5 1) 22
X|l=X=—=)==—
6 2 4 27

4 (25 1) 22
—_X|— =] = —
27

9 12 4
4 (25 3) 22
—X|l— =] = —
9 12 12 27
4 22 22
— X — = —
9 12 27
1 22 22
— X — = —
9 3 27
22 22
27 27

k (5 2))(1 _(2+1 4)X3_55
6 9/°3) \5 2 5/78 72
(15 4))(1 '(2+1 4))(3_55
18 18/ 73) \5 ' 2 5)78 72
(11 1)_(2+1 4) 3_55
18°3) " 57275/ 8772
11‘(2+1 4)><3—55

54 "\5 2 5/78 72

11 (4 5 4\ 3 55
54‘(10+10 5)x8_72
11.<9 4)><3—55

54 " \10 5/°8 72

11'(9 8))(3_55

54 " \10 10/ 8 72

11 1x3_55

54 1078 72

11><10 3 55

547178 72

11 5><3—55

277178 72

55 3 55

—_— X == —

2778 72

55 1 55

—_— X == —

978 72

55 55

72 72

Assignment

Finish this Handout

;((

Fractions

5>_+24 6
40)  40] 19

3 19 6
20 40 19
3 40 6

—_ X —_— = ——
20719 19

3X 2 6
1719 19
6 6
19 19

Quiz Next Day!



